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ISR SR ..ot AN W05 | ERERR (11020
MR | MTRE | meE |G| eeReE s | o muEmien puEs wmsapmaluesl 8 | 8 | g
(H5. 12~H6. 4) M}ii?l (g) AR (@) | (%) | 4% (9) | (%) (B (g): (%) | (B) ((B)| (%) [(B)| (%) |(B) (%)
H6-1-3|&0 0.1ug/g 5.0 9 | 4 | 47| 45.5 |#¥ L= -+ 0 0 - -1 - 2511 105; 41.8) 113/ 45.0, 33|13.1
| OmessE®) | SR | | _oo.p oo b L b
H6-11-4{80 0.5p9/9 5.39% | 3 |31 765 MRk ~ |3.9/5.1 — |59 7.7 + |9.8/12.81 30; 28/93.3 0] 0.0 2] 6.7
_ miesomw) | ®R |1 | || S N N S O (N S U S S
H6-M-4 2% 0.0001ug/ml : 3.1 9 | 1 | 38845 MR 25767 — | 17720.6; + | 23{27.34] 135/ 129:95.6/ O 0.0f 6/ 4.4
| oeemew | 1R | | I S N N (U N N A
H6--5|A% 0.00001 ug/ml | 21 % : 2 | 17| 58.7 | S- - |+ 0 0 -|-1 - 14 7150.0f 7;50.0, 0 0.0
(Be238%) TR 4 | 19 1100.6 |&# I = - i+ 0 o0 -i-1 - 34, 17/50.00 13/38.2] 4|11.8
5 [59-1; 48.7 & 132/ 6.6 + 0 0 — 13286571 58] 13122.4] 19/32.8! 26!44.8
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BigHm 3 8 (s FESR
= MTRE REHM HE st (sMMEE | ERE Rk
% g (BEREARE) | BN [EN S8 SN[ SN | S8 | F8 | B (LR |05 | BB ]| HR | BB | HR | B8
=4 &n B/iR (H6. 12~H1. 4) BY| X (BY| ¥ (BE| = (| ¥ |2 | 5| = || ¥ ®
(ug/a) | Cug/nl) (B) [ (B) | (96 [ (B[ () | (B) | (%) ] (%) [(R)[ (%) | (B)] (36) | () [(R)|(%)
1] 64 35~155(120 B RD) 34 o 00 o 0o o 00 - [ -1 -1 2588 — | 14/41.2
Hji[2] &4 0.5 - 45~155¢1108/) | 137 2| 1.5] 4] 29] 6 44 41 — [ — | 86 62.8] — | 50/3%.5
3] 63 el =L I I I I I I I I I I I el
1] Gl 35~155(120 B /1) 15| o] 0.0 42 6.7 47 - | -] 12[80.0] - 2[13.3
Hrjnj2| GMIT - | o.o001 | 45~1s5(1108m) | 152] 3| 20/ 18[11.8] 21/13.8] 46 — | — | 98 64.5 — | 45/20.6
3] 6 55~155(1008R9) | 130] 0 0.0[ 5 3 5| a8 24 — | — | t05[80.8] — [ 19/14.6
B (1 +n) 48] 5| 1.1 31| 6.6] 36 7.7 42 — | — | 321] 68.6] — | 130/27.8
CONT GAIT - - - -1 -1-1-1-1-1 = 0] 0.0 3[t00 o] 0] 0.0
$6A - - - o -]-/-]1-1=-1=-1- o o.of 18/947] of 1] 53
1] etm3a—1 d¥~g5q2080) | - | - |- [-[-]-[-] - {-1-1-[—-1-1-1=
mi2] eMm3-1 | 0.5 - s5~55¢008m) | - | - | -1 -[-|-]-]-]-1-1-]=-1=-1=-1-
3[2m13-4 55~155(1008R8) | 296 — | — | — | — | — | — | — | 145/49.0{ 86/ 29.1] 0 65/22.0
HEZTERK B~igsq208m | - |- |- -|-1-|-] - {-1-1- -1-1-
iv[2] 2gm3-1 ]| 0.3 - s5~gs¢008/@) | - | - | - -[—-|-]-1T-T1T-1-1-1T-1-1-1-
3| 2413-4 55~185¢1008R1) | 18] - | - | - [ -] -1 -] - 50]33.8] 63| 35.8] 1] 44/29.7
1| 2813-4 35~155(12080D) | 216] - | - | - | -] - -] - 94[34.1] 121{ 43.8] 0 61221
viz|esi3-4] - | 0.0001 [ 45~155¢110@8RD) | 176 — | - [ - |~ | -]~ | = 61]34.7] 74[ 42.0] 0f 41233
3| emi3-4 55~155(1008M) | 332 — | — | — | = | — | — | — [ 148]44.6] 114] 34.3] 0] 70[21.1
B (n+Iv+Vv) 1,228 — | - | — [ = [ -] -1 — 1 498/ 40.6] 448] 36.5] 1] 281]22.9
* 80=58/8, BX=BIEW05EK
*  GA=H SR DERE —HiR
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*  HEEERI =R EBREROBK
* REREW, IV, VOURRA (21 3-4) RAUESRLVLHR () TRLC ER-/ERLEILNS,
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3 H7

Eﬁgﬁﬂﬁvﬂ&#ﬁ B

HRX| MTRE [B[SMF] SE | i [MmER 7 | RF__BM ' E371CH) RIRIE(K) [FEEK)
B |HES| (9) @] M. HEEND| (@) [ %) ] (@) ]| (W) £ [CONT| £#E[CONT

1-2 {0.5u9/9 1 5| 111.9|ukERk | ¢ 2.5 2.2|%kR:®E| — | — | 51| 4.6/ 7.6 6.8 9l — | - | - | -
(H45-155) 2 14| 67.9|k o 6.0] 8.8 + !+ -] -] 6.0 88 20.0} 56 |14.0| 45

3 15| 98.8|#kEREk | $o | 4.5 4.6 — | — | 12.4/12.6{16.9{17.1| & S

4 16| 161.6|MkERIK | ¢ | 4.5] 2.8 — | — | 17.4{10.8] 21.9] 13.6| & -l1-1-1-

5 17| 98.6|MikkRIk | ¢ | 3.8 3.9 - | =1 02 02 4.0f 4.1}¢ -1-1-1-

6 18] 100.9 rd 4.9] 4.9 — | =] =1-149 49 3 - |l=-]1=-1-

-1 10.0001 ug/ml 1 4] 108.0[MikERIMR | ¢ 3.0 2.8 - | - 8.7 8.1 11.7{10.8 3 -1=1-1-
(H35-155) 2 19| 109. 5{MikkFk | ¢~ | 3.8/ 3.5 — | — | 18.8{17.2] 22. 6/ 20. 6| 3 -1-1-1-

3 20| 100. 3|MEkERIK | o 8.2| 8.2 -] + 0.4/ 0.4] 8.6/ 8.6 3 -l =-1-=-1-

4 21] 34.6 B4k | 2o | 1.7] 4.9 -1+ 030 2.0 5.8] & -]l=-1=1=

11-2 0. 0001 ug/ml 1 6 103.2|#EKkRIE | ¢ 1.3 1.3 — | + | 18.5/17.9] 19.8]19.2 > -1 -1-1-
(H45-155) 2 7| 383 MEMERK | 2o | 1.7] 4.4 - | =1 41}10.7 5.8/15.1 -1 =1-1-

: 3 8| 19.8|kt o 1.1] 5.6 - =1 -1-1 11 56| -l =-1=-1-

4 9 70.6|MEERHKE | ¢ 3.0] 4.2 - | = | 7.4{10.5/10.4/14.7 -l1=-1-1-

5 10| 70.1|MekeRIKR | ¢ 2.1] 3.0 - | - | 8.5[12.1]10.6/15.1 -1-1-1-

6| — | 105.2|MKERFK | ¢ 4.3 41|KRE| — | — | 0.8 0.8 51| 4.8 -=-1-1-

7 11 129.1|MRERMKR | ¢ 4.2 3.3 — | — | 18:5[14.3]| 22. 7| 17.6| -l =-1-1-

8| 12| 65.2]MkERI4k | ¢ 1.2] 1.8 - | = 1125/19.2[13.7]21.0 -1 =-1-1-

9 - 28. 4|1 o 1.3| 4.6|KRE| — | - | — | = | 1.3] 46 -|=-1-1-

10 23| 89.6|MkEREk | %o | 5.8 6.5 - | - 28] 3.1] 8.6/ 9.6 -1 =1 -1-

1 24| 120. T(MgiiFi4k | o | 6.4] 5.3 — | — | 23.1]19.1] 29. 5| 24. 4 0.8]15(0.5( 12

12 25| 80. 4|MiERK | ¢ 3.3 37 — | = | 13.2|14.8| 16. 5| 18. 5| 3~ -1-1-1-

13 26| 54.T|MEkEFIK | 2o | 4.5] 8.2 - | - 2.0] 3.7 6.5/11.9] -1 -=-1-=1-

14 27| TA.5|MMERK | *~ | 4.6] 6.2 -1 -1 1.2] 1.6] 5.8 7.8 3~ -1-1-1-

15 28| 140. 2|sgikFk | $o | 5.1] 3.6 — | + | 25.0/17.8] 30. 1| 21. 5} 37 -1 =-1-1-

16 29| 66. 4|MikEREIK | *~ | 4.0] 6.0 -1 - 1.5/ 2.3} 5.5 8.3 -1 =-1-1-

17 30| 73.5|MKERME | o 5.1 6.9 - | =1 01} 0.1 52 7.1] & -l =1-1-

18| 31 94.3MERK | 2o | 4.3 4.6 - | =] T4 7.8/ 11.7)12 4 & -1=-1-1-

19 32| 60.2/MEkkRk | ¢ | 4.5 T.5 - | =1 02 0.3 47 7.8 & - =1 -=-1-

20 33 T7.5MEHERK ]| Fo | 3.3 4.3 — | — | 12.5]16.1] 15. 8] 20. 4| - =1-1-

3 I 5.1] 7.4 -1=1=- — 1 5.1] 7.4] % -l =1 =1-

11-3 {0. 0001 pg/mi [ 37 3.4 - | =1 0.5 05 42 3.8 0.7/ 85 (0.3 68
(H55-155) % 0.3 - -1-121] -{24 - |- -|—-{=-{-1"-1-

% 0.9 1.0 — | = | 16.7|17.8| 17.6/ 18.7| 372 0 871 - —-|—-1|-

$ 0.8/ 0.8 — | —123.2/22.2| 24.0{ 23.0f 2z 0 88 —|—-| — | —

$o | 4 5 — | + |10.8] 9.3/ 15.7 5 0.2] 62| 0.1/ 56[0.1]45

BERE 311 3.6 z’ 3 1116095 .8[13.2 — - =-1-1=-1=
() [PHHnE | 38 42 1 [ 1 X 9(13.6l — 10.92] 43 0.7l — | 0.5] —

)
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4 H7

wag | I waz
SEX nE%ik WBEM | BWKE | RER | ZER BER| | BB nBRE MEBEM | BHOKE | RES | REBXR(BEE
(erg) c) () (°C) | (%6) | (56) | (%) (erg) () (%) (c) | (96) | (%6) | (%)
GA1 GA| 6,000 |HT 33.1-32.8/5°00"—5" 007 14.2 60.7| 57.9; 27.1| |GA20 GA| 8 000 |HT 32.4-32.4/5°00"—5730] 14.5 13.9] 9.8/ 0.0
Wl » |- - - ” 54.7 54.7 0.0 W - - - 4 31.5| 28.8 1.8
N - |- - - ” 96.1] 96.1] 86.5! N - |- - - ” 83.9] 83.9] 6.1
GA2 GA| 6,000 [HT 33.0-30.0/5°00"—5"007 14.4 19.1 16.8] 0.6 |GA21 GA| 8000 |HT 32.6-32.5/5700"—5730] 14.4 15.8/ 13.2| 0.0
w( ~ - - ” 50.6| 49.4/ 0.0 A - ” 63.0| 60.2( 7.3
N - - - y 11.5] 68.9] 62.0 N, - |- - = “ 91.9] 91.9] 83.0f
GA3 GA| 6,000 |HT 32.8-32.8/5"00"—5" 007 14.3 47.5| 38.0f 8.3 |6A22 GA| 6,000 |HT 32.4-32.4/57 00" —500] 14.6 15.5 9.5/ 0.0
wl o » |- - - ” 55.2| 44.2| 0.0 wl v |- - - ” 24.3] 23.5| 0.0
N - |- - - ” 100.0f 94.9 90.2] N - |- - - ” 68.1] 68.1] 65.6
GA4 GA| 7,000 |HT 33.0-33.1|5 700" —5" 007 14.3 21.2| 21.0f 5.0/ |GA23 GA| 6,000 [HT 32.6-32.6/5°00"—5700] 14.8 19.8| 15.1| 0.0
wp o~ |- - - K 68.9( 62.0f 0.0 w ~ |- - - ” 42.0| 39.2f 0.0
N - |- - - ” 94.7| 85.2| 83.2 N - |- - - ” 86.6| 86.6| 86.0
GAS GA| 6,000 [HT 32.9-32.9(5700"—5"007 14.4 40.3| 35.2| 3.0{ [6A24 GA| 6,000 [HT 33.0-33.1/5°00"—5"30] 14.2 40.0| 38.0| 24.0
wp o » |- - - ” 71.8) 70.0/ 0.0 w7 |- - - ” 63.6] 94.3| 0.0
N - = - - ” 96.7| 91.9/ 32.6 N - |- - - i 59.5| 57.1] 46.6
GAG GA| 7,000 [HT 32.9-32.8(5°00"—5"007 14.3 28.5| 25.3| 0.3| |GAZ5 GA| 6,000 |HT 33.9-33.0[5 00" —5 30| 14.2 23.0{ 23.0 16.3
Wi » |- - - " 46.9| 45.8) 0.0 w| ~ |- " 66.5| 62.5| 8.0
N - |- - - ” 97.0| 97.0/ 86.0] N - |- i 61.1] 61.1] 56.6
GA7 GA|7,000 [HT 32.9-32.8(5° 00" 57007 14.3 22.3| 20.5| 0.6 |GA26 GA| 6,000 [HT 33.0-33.1|5700"—5"30] 14.2 10.0{ 10.0] 8.0
wf » |- = - ” 58.3| 52.5| 3.1 wf ~ |- - - ” 79.5| 79.01 7.0
N| - |- - - “ 88.1] 79.3] 24.3 N, -—- |- - bt “ 47.5| 471.5] 46.0
GAB GAf7,000 |HT 33.1-33.0/5°00"—5"007 14.4 10.5( 10.5/ 0.0] |GA27 GA| 6,000 [HT 32.5-32.6/5 30" —5700] 14.1 4.7 10.5 0.2
wi o~ |- - - ” 5.6 23.0| - wl o~ |- - - ” 62.3| 60.9} -
N - |- - - a 48.5| 46.2] 371.0 N - |- - = ” 93.5] 93.5| 84.2
GA9 GA| 7,000 |HT 33.0-33.0/5 00" —5"007 14.4 1.7| 1.7] 0.0[ |GA28 GA| 6,000 |HT 33.0-33.1{5°30"—5"00] 14.1 0.0 - -
wp o» |- - - ” 4.2( 42| - wf ~ |- - - “ 0.1 - -
N - = - - i 74.7] 74.7{ 59.8) N - |- = = A 84.8] - =
GA10 GA[ 7,000 |HT 33.4-33.2/5° 00" -5 007 14.7 40.0{ 22.0{ 0.6 |GA29 GA| 6,000 [HT 32.8-32.9/5°30"—-5700] 14 16.0f 40/ 0.0
wf » |- = - ” 50.0f 34.1| 9.8 wf » |- - - ” 2.1 3831 -
N - |- = - ” 51.6] 51.6] 50.0 N - |- = - ” 91.9] 91.9] 82.7
GA11 GA| 7,000 [HT 33.0-32.9/5°00"—5"007 14.8 56.6| 48.7| 3.9 |GA30 GA| 6,500 |HT 32.9-32.95° 00" —5°00] 14.5 1.5/ 12.8) 25
Wi » |- - - ” 72.4| 66.7| 5.7 wf ~» |- - - ” 9.0 45 -
N - |- - = ” 48.3| 46.6] 30.2 N - |- - - “ 55.7] 1.7} 46.5
GA12 GA| 7,000 |HT 33.0-32.9/5° 00" —5"007 14.7 40.0| 32.0/ 6.0{ [6GA31 GA| 6,500 [HT 33.1-33.0/5°00"—5700] 14.4 43.6) 42.3| 15.6
wl ~ |- - - ” 7.8| 68.5/ 5.6 w| o~ |- - - ” 41.1| 46.3| -
ON| = = = - ” 73.3] 73.3] 61.9 N - |- - = ” 44.3] 45.1] 40.6
GA13 GA[ 7,000 |HT 33.3-33.2/5700" 57007 14.8 81.3| 65.1| 16.3] |GA32 GA| 6,500 |HT 32.5-32.6/5° 00" —5"00] 14.5 2.2 121 00
wf » |- = - ” 84.3| 84.3| 12.6 wf » |- - - “ 4.4 - -
N - |- - - ” 85.8| 85.8| 81.0 N - |- - - “ 6.0 5.4 4.3
GA14 GA 7,000 |HT 32.9-32.8{5° 00" 5007 14.6 41.8| 34.2] 6.3 [GA33 GA| 6,500 |HT 32.5-32.5(5°00"—5700] 14.4 31 25 00
wf » |- - - ” 75.0{ 70.8] 30.1 w| o~ |- - - ” 3.3 - -
N - |- = - ” 85.0{ 85.0{ 64.3 N = = = bt “ 88.4] 79.6] 63.6
GA15 GA| 8,000 [HT 32.3-32.3|5°00"—5"007 14.4 7.7 1.9] 0.0 |GA34 GA| 6,500 |HT 33.0-32.8|5 15" —~5"00] 15.1 3.6 387.6| 26.5
Wl » |- = - " 40.7| 31.3( 20.0 wl o~ |- - - ” 26.5| 23.8{ 0.0
N - |- - = ” 9.0/ 70.0f 21.5 N - |- - et “ 40.5| 40.5| 32.8
GA16 GA| 8,000 (HT 32.6-32.6(5 30" —57007 14.4 14.6 11.0{ 0.0] |GA35 GA| 6,500 |HT 32.9-32.9|5° 15" —5700] 14.9 0.9 00 -
wp o» = = - “ 63.8/ 63.8) 0.0 wf o~ |- - - ” 20.2) - -
N - |- - - ” 93.7] 93.7] 92.1 N - |- - - ” 45.4] 40.8] -
GA17 GA| 8,000 |HT 32.3-32.5/5 30" —5°007 14.3 22.0| 18.0| 2.0] |GA36 GA| 6,500 |HT 32.4-32.4/5°15"—5700] 14.8 16.0{ 14.4] 0.6
wf ~ |- - - ” 14.2| 73.4 25.1 wf ~ |- - - ” 65.4| 64.71 0.0
N - |- - - ” 75.0] 72.6| 170.2 N - = - - ” 68.4| 68.4] 54.8
GA18 GA |8, 000 |HT 32.3-32.5/5 00" 5007 14.1 12.9| 5.9) 0.0 |GA37 GA| 6,500 |HP 32.4-32.4/5 15" —5700] 14.8 32.9/ 329/ 1.0
Wy » |- - - ” 38.5| 36.2| 1.5 w| o~ |- - - ” 53.7| 52.0{ 0.6
N - = - = “ 15.4] 74.6] 1.0 N - |- - = “ 47.8] 47.8] 47.8
GA19 GA |8, 000 [HT 32.5-32.5(5°00"—5"007 14.4 30.7) 21.9] 1.8] |FH G 25.1] 20.7| 4.9
Wy » |- - - " 3.8 34.5| 85 w 49.3] 43.3| 4.0
N - |- - - i 91.8/ 91.8] 66.9 N 72.9] 68.9] 53.8
5) M
(T H7.12.1 H8.4 )
H7 10 GA MT , ,
14 H7.11 H8.10
MT MT 0.0001p g/mé ,



, 30 55 5 s
0.0005u g/mé ( 45 55 )
, ,MT 0.5p g/¢ H6 ,H7
, T 0.4p 9/ ,
45 60 6
, . ,3 /7 -90 , 5 / ,
(it , MT 2/ ,
2 MT 10 1/ 10
R 34 /7, / # ( 5
5 H8 ( )
(MTALERHARSHT. 12 ~HB. 4)
MTEE B RERH RE ki
HBRX HERRA (BB E) DEE
£0 =R
(uo/9) (ug/mi) (8) (B) (L)
1 GA3T 30~150 (12080/) 1, 000 500
2 GA24 35~150 (1158/) 260 500
I 3 GA31 - 0. 0001 40~150 (1108R/) 1,040 500
4 GAT1 45~150 (1058/) 370 500
5 GA14 50~150 (100E1R%) 700 500
6 GA 1 55~150 ( 95 B 430 500
i i GA34 - 0. 0005 45~150 (1058/) 380 200
2 GA 3 55~150 ( 958/) 380 200
1 GA13 45~150 (1058M/) 530 500
" ] GA13 0.4 - 50~150 (100 81/5) 530 500
3 GAI3 60~160 ( 90 EIRH) 530 500
GA34 0.5 450 500
Iv 2 GA34 0.4 - 55~150 ( 9581R5) 450 500
3 GA34 0.3 459 500
& 14 - - - - 7. 500 -
* gO=5@E/8, RR=E3E9 041K
*  GA=SBiEEHHE R — EER
6) MT
H6 8 27 , 2
7 2 7
( 7 ) 7 L]
, MT
, MT
, MT
,561 H7 MT 400 0.01up g/g(14 ), 20 120 (10
) 35 ,H6-4,H7-1, 5



MT MT 0.1 0.5u g/g, - 35,45,50,60

1.0 22.2% ,  ,0.5u g/g ,0.50 0/g 50 60
35 45
, 1 MT 0.5y g/g+ -
50 60
: ,562 H7 MT 50 0.00001p g/ml(6 ), -
23 60(8 ) 20 ,H3-1,H4-1,H6-4,H7-3, 9
MT , 0.00001 0.0001u g/m&, -
23,30,35,40,45,55 0.3 26.7% , 0.0001y g/mé
, 0.0001p g/mé 35 45 ,
, 1 , MT 0.0001
ug/mé+3  / -90 + - 35 45
, 7
( 6, 5)
6
(BHGAE~FERIEX TORERFREBERCHSIIMTARELR UL RS - BH)
MTHE BEEERGZR FHER | HERE
mtk BE LEEE SLIRTAR HERE | HREH | HRE HEE
(MLERABRED (%) (B) (%) ()
35~170 (135) 1.6 2 18.7 123] Hé
0 0.5 45~155 (110) 2.9 4 3.5 137 HI
(ug/9) 5E8/8 50~155 (120) 22.2 6] 29.6 21| He
60~170 (110) 3.8 26 1.8 682| H6
0.1 35~170 (135) 1.0 1 5.9 101] H6
23~170 C147) 0.9 2 4.0 224] He
30~170 (140) 3.8 2 0.0 53] H6
0. 0001 3E/B— 907 bk 35~155 (120) 26.7 4 13.3 18 HI
40~170 (130) 2.1 12 0.0 578] H6
=ik 45~155 (110) 11.8 18 29.6 182] HI
(ug/ml) 55~155 (100) 3.8 5 14.6 130f W7
0. 0001 3E//B— 60 " ikk 40~190 (150) 0.3 3 26 879 H4
0. 00001 3E/E— 90~ 1bK 23~170 (147) 0.3 1 1.5 339] H6
0. 00001 3E/#-120 " ibK 40~153 (113) 111 1 44.4 9] H3
B (F8) 14 (6.6 871 (149 3. 449
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mm 20

— e H6

HER/HEY
|V kR

V() gk

v
(0.1ug/g)

1/101 /
35 35 45 50 60
MTIERERE (BLRSREER) (B)
-MT  0.0001p g/g
- H7 —
HEBRB/HEREH
VkRE Y3 e
v () sk H7
18/152

By = :
(0. 00001!1 20')
1/9

e H6
12/578

 HeW
(0..00001)

1/339

23

H6
2/224

H6
2/53 .

40 23 30 35 40

MTAERKE (FE&Zaa% (8)

-MT 0.0001p g/mf
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H6 T H5.12 H6.4)
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H7 (T H6.12 H7.4)

13



